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In Class 3.2b, Algebra II										Name: 
Unit 3, Binomial Expansion and Division of Polynomials					Community High School	
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Polynomial long division is a method for dividing a polynomial by another polynomial of a lower degree. It is very similar to dividing numbers. [image: ]



Numerical Long Division

	   Fill in the boxes.Which number is the…

Dividend?

Divisor?

Quotient?

Remainder?
2
3
1
0
5
2
4




How to Divide by Polynomials

Prepare:
1) 


Write the problem in “long division form”. That means you change  or  into  form.  
2) Put 0s as placeholders for any missing term in the divisor and dividend.

Process:    

1) Divide the first term of the dividend by the first term of the divisor.  Line up the result above the like term in the dividend.

2) Multiply the result of the division by the entire divisor.  Write it below the dividend’s first term.

3) Subtract the entire product from the terms above it. 

4) Bring down the next term from the dividend.

5) Repeat this process until you are left with a remainder (or 0).  Write the remainder as a fraction with the divisor as the denominator.


Guided Practice:

1. 	






















Simplify the polynomial by performing the indicated operation.

1.  					2. 4	
















3. 				     	4.  












5.  								6.  	  	
















Synthetic division is a process that can be used as an alternative to long division. Synthetic division
can be used when the divisor is a _____________ binomial with a leading ________________ of one.

[image: ]















Divide using long and synthetic division.  Determine whether the given binomial is a factor of p(x).

1. 		2. 











Factor Theorem

Let   Evaluate   What does your answer tell you about the factors of .
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Pascal’s Triangle

Binomial Expansion (Coefficients)
(a+b)° 1 1
(a+b)'= a+b 11
(a+b)*= a® +2ab + b* 1201
(a+b)°= a®+3a’h + 3ab® + b? 13 31
(a+b)* a+4a%b +6a’h* + 4ab> + b* 14 6 41
(a+b)°=a®+5a%b + 10a°h* + 10a%b> + 5ab* + b5(1 5 10 10 5 1
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2
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36
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Polynomial Long Division

Divisor  2x+3<—— Quotient
x4+ 2)2¢ + 72+ 7<— Dividend
20+ ax
w47
346
T<— Remainder
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